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QUESTION 1

What factors are likely to cause the greatest impact on the application layer throughput of an 802.11n client station in a
2.4 GHz HT BSS? (Choose three)

A. Use of WEP or TKIP for encryption instead of CCMP

B. Use of passphrase authentication instead of 802.1X/EAP authentication

C. Increasing the beacon interval from 100 to 200 (TUs)

D. RF interference from more than 10 nearby Bluetooth transmitters

E. Increasing or decreasing the number of spatial streams in use by the client station and AP

F. Configuring the AP to perform off-channel IDS scans for rogue devices for 50 ms out of every 20 seconds

Correct Answer: ADE

QUESTION 2

What statement about the IEEE 802.11e QoS facility is true?

A. 802.11 QoS is achieved by giving high priority queues a statistical advantage at winning contention.

B. Four 802.1p user priorities are mapped to eight 802.11 transmit queues.

C. When the Voice queue has frames awaiting transmission, no data will be transmitted from the Best Effort queue.
D. To improve efficiency, Block Acknowledgments are required for Voice and Video WMM queues.

E. 802.11 control frames are assigned to the 802.11 EF priority queue.

Correct Answer: A

QUESTION 3

In an 802.11n WLAN with a heterogeneous set of associated client devices including 802.11b, 11g, and 11n, what HT
protection mode will the BSS use?

A. Mode 0: No protection mode (Greenfield)
B. Mode 1: Nonmember protection mode
C. Mode 2: 20 MHz protection mode

D. Mode 3: Non-HT mixed mode

Correct Answer: D
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QUESTION 4

Given: You are on-site to perform a post-deployment site survey. When verifying a multiple channel VoWiFi deployment
using a VoWiFi handset, which aspect is most important?

A. Performing protocol analysis with a single wireless adapter that is scanning all channels in use

B. Testing a constant conversation or handset tone while roaming from area to area, or performing an active survey
C. Configuring DSCP-t0-802.11e QoS maps on the handset for each access category.

D. Verifying the orientation/polarity of all omni-directional antennas in use by the VoWiFi clients.

Correct Answer: B

QUESTION 5
In an infrastructure Basic Service Set (BSS), how does the passive scanning process occur?

A. Access points broadcast Beacons on all channels of each radio within the regulatory domain. Nearby client stations
record information found in the Beacons for use in the association process.

B. Client stations broadcast Probe Request frames on all supported channels in the regulatory domain. Nearby access
points respond with Probe Response frames. Client stations record information in the Probe Response frames for use in
the association process.

C. Client stations broadcast Probe Request frames on the single channel for which they are programmed. Nearby
access points respond on that channel with Probe Response frames. Clientstations record information found in the
Probe Response frames for use in the association process.

D. Access points broadcast Beacons on a single channel for which it is programmed. Nearby client stations listen for
Beacon frames and record information found in the Beacons for use in the association process.

Correct Answer: D
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